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MEASURES OF CENTRAL TENDENCY

1. The following observations have been arranged

in ascending order. If the median of the data is
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63, find the value of T:

29, 32, 48, 50, =, = + 2, 72, 78, 84, 95

o Watch Video Solution

2. Find the mode of the following data in each
case:

14, 25,14, 28,18, 17,18, 14, 23, 22,14, 18

o Watch Video Solution

3. Find the mode for the following series: 7.5, 7.3,

72,72,74,7.7,7.7,75,73,7.2,76,7.2


https://dl.doubtnut.com/l/_EuXb3lWoGguF
https://dl.doubtnut.com/l/_77rTHh963sLJ
https://dl.doubtnut.com/l/_3gBRaUegHCTc

o Watch Video Solution

4.Find the mode for the following series: 2.5, 2.3

2.2,22,24,2.7,2.7,2.5,23,2.2,26,2.2

° Watch Video Solution

5. Find the median of the following values: 37, 31,

42,43, 46, 25, 39, 45, 32.

0 Watch Video Solution



https://dl.doubtnut.com/l/_3gBRaUegHCTc
https://dl.doubtnut.com/l/_7RVH9gdH2Gk5
https://dl.doubtnut.com/l/_iR4UnfYyFY7q

6. The following observations have been
arranged in ascending order. If the median of the
data is 63, find the value of =z:

29, 32, 48, 50, z, = + 2, 72, 78, 84, 95

° Watch Video Solution

7. The sums of the deviations of a set of n values
1, T, ; *, measured from 15 and —3are — 90
and 54 respectively. Find the value of n and

mean.

o Watch Video Solution



https://dl.doubtnut.com/l/_IFpkAd0cFpfN
https://dl.doubtnut.com/l/_80nZ7eDgA20x

8. Find the values of n and X in each of the

n

following cases: (i) z (z; —12) = — 10 and
1=1

Y (x1—3) =62 (i) ¥ (z1—10) =30 and

1=1 1=1

Y (x1— 6) = 150

1=1

° Watch Video Solution

9. The mean of 5 number is 18. If one numbers is

excluded, their mean is 16. Find the excluded

number.

S


https://dl.doubtnut.com/l/_80nZ7eDgA20x
https://dl.doubtnut.com/l/_AajOHcAD0yQB
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| ¥ Vvatch Video Solution |

10. The mean weight per student in a group of 7
students is 55 kg. The individual weights of 6 of
them (in kg) are 52, 54, 55, 53, 56 and 54. Find the

weight of the seventh student.

° Watch Video Solution

11. The sum of the deviations of a set of n values

L1y LYy cerernnen x, measured from 50 is-10 and the


https://dl.doubtnut.com/l/_EBuezgxryQkY
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sum of deviations of the values from 46 is

70.Find the values of n and the mean.

o Watch Video Solution

12. If 1, zo, ....... , T, are n values of a variable

n

X such that Y (z;—2) =110 and
1=1

sum (i=1)"n(x_i-5) =20". Find the value of n and

the mean.

o Watch Video Solution



https://dl.doubtnut.com/l/_FjXficAkRE9p
https://dl.doubtnut.com/l/_CSKAErMJcHiw

13. If the mean of five observation
x,r+ 2,z +4,x+6,x + 8is 11, find the mean

of first three observations.

° Watch Video Solution

14. The mean of 5 number is 18. If one numbers is
excluded, their mean is 16. Find the excluded

number.

o Watch Video Solution



https://dl.doubtnut.com/l/_I8tZ9MbRDVTh
https://dl.doubtnut.com/l/_2GTFAXvHGEUI

15. The mean of 16 numbers is 8. If 2 is added to

every number, what will be the new mean?

° Watch Video Solution

16. The mean of 10 numbers is 20. If 5 is
subtracted from every number, what will be the

new mean?

° Watch Video Solution



https://dl.doubtnut.com/l/_e02DHwP6yzM6
https://dl.doubtnut.com/l/_4aZaebPbM2ju

17. Find the mean of the following distribution: x:

4691015f:510107 8

° Watch Video Solution

18. If the mean of the following distribution is 6,

find the valueof p.x:24610p +5f:32312

° Watch Video Solution

19. Five coins were simultaneously tossed 1000

times and at each toss the number of heads were


https://dl.doubtnut.com/l/_zGor6JzV7Eyy
https://dl.doubtnut.com/l/_IKAuobTDDuUO
https://dl.doubtnut.com/l/_4fNOPGqPPPxM

observed. The number of tosses during which
0,1,2,3,4 and 5 heads were obtained are shown in
the table below. Find the mean number of heads

per toss.

o Watch Video Solution

20. Find the median of the following data: 25, 34,

31, 23, 22, 26, 35, 28, 20, 32

° Watch Video Solution



https://dl.doubtnut.com/l/_4fNOPGqPPPxM
https://dl.doubtnut.com/l/_SYGjjdHLh1Rm

21. Find the value of p, if the mean of the
following distribution is 75.x: 35791113 f: 6 8

15p 8 4

° Watch Video Solution

22. Find the missing frequencies in the following
frequency distribution if it is known that the
mean of the distribution is 1.46. No. of accident
(x) O 1 2 3

4 5 Total Frequency (f):


https://dl.doubtnut.com/l/_8uYqgaP8wLA7
https://dl.doubtnut.com/l/_1zKFHnbYtHJz

46 ? ? 25 10

5 200

o Watch Video Solution

23. The mean of 16 items was found to be 30. On
rechecking, it was found that two items were
wrongly taken as 22 and 18 instead of 32 and 28,

respectively. Find correct mean.

° Watch Video Solution



https://dl.doubtnut.com/l/_1zKFHnbYtHJz
https://dl.doubtnut.com/l/_VmeIT1ODAlSz

24. The mean monthly salary of 10 members of a
group is Rs. 1445, one more member whose
monthly salary is Rs. 1500 has joined the group.
Find the mean monthly salary of 11 members of

the group.

° Watch Video Solution

25. Find the mean of the following distribution:
x:4691015

f: 510107 8

o Watch Video Solution



https://dl.doubtnut.com/l/_ULgfWuH3gXzS
https://dl.doubtnut.com/l/_KBNugJrm3UxX

26. Following table shows the weights of 12
students:

Weight (in kgs): 67 70 72 73 75

No. of Students: 43221

Find the mean weight.

° Watch Video Solution

27. If the mean of n  observation
axri, ATy, AT3, , GL, IS aX , show that

(a,azl — a)?) + (aa:2 — a)?) + + (aa:n — a)?) =0



https://dl.doubtnut.com/l/_KBNugJrm3UxX
https://dl.doubtnut.com/l/_0YW7PhlDMgWz
https://dl.doubtnut.com/l/_1fSkpjXK4gWy

I o Watch Video Solution

28. If the mean of 6, 4, 7, p and 10 is 8, find the

value of p.

0 Watch Video Solution

29. Find the sum of the deviations of the variate

values 3,4,6,8, 14 from their mean.

o Watch Video Solution



https://dl.doubtnut.com/l/_1fSkpjXK4gWy
https://dl.doubtnut.com/l/_XSVpBynKBhq5
https://dl.doubtnut.com/l/_WEb1OurVGlqg

30. The mean of 40 observations was 160. It was
detected on rechecking that the value of 165 was
wrongly copied as 125 for computation of mean.

Find the correct mean.

o Watch Video Solution

31.If the heights of 5 persons are 144 cm, 152cm,
151cm, 158 cm and 155 cm respectively. Find the

mean height.

° Watch Video Solution



https://dl.doubtnut.com/l/_jxxgy2yn4p2L
https://dl.doubtnut.com/l/_hK1EFEanf5wJ
https://dl.doubtnut.com/l/_EmMGE30nDA4y

32. Find the arithmetic mean of first 6 natural

numbers.

o Watch Video Solution

33. Find the arithmetic mean of first ten odd

natural numbers

o Watch Video Solution

34. The weights (in kg) of 15 students are: 31, 35,

27,29, 32, 43, 37, 41, 34, 28, 36, 44, 45, 42, 30. Find


https://dl.doubtnut.com/l/_EmMGE30nDA4y
https://dl.doubtnut.com/l/_O7XdUTXYsiyv
https://dl.doubtnut.com/l/_ocm8ExuEMhDO

the median. If the weight 44 kg is replaced by 46

kg and 27 kg by 25 kg, find the new median.

° Watch Video Solution

35. Find the median of the following data: 19, 25,
59, 48, 35, 31, 30, 32, 51.
If 25 is replaced by 52, what will be the new

median.

° Watch Video Solution



https://dl.doubtnut.com/l/_ocm8ExuEMhDO
https://dl.doubtnut.com/l/_ZaPPDU48gT2b

36. Find the mode from the following data:

110,120,130,120,110,140,130,120,140,120

° Watch Video Solution

37. If the heights of 5 persons are 144cm, 152cm,
151cm, 158cm and 155cm respectively. Find the

mean height.

° Watch Video Solution



https://dl.doubtnut.com/l/_f6IdBpVaDg2C
https://dl.doubtnut.com/l/_ci9Cz9T9DcYO

38. Find the arithmetic means of first 6 natural

numbers.

o Watch Video Solution

39. Find the arithmetic mean of first ten odd

natural numbers.

° Watch Video Solution

40. If the mean of n observations ax1, ax2, ax3, ...,

axn is aX show that (ax1-aX) + (ax2-aX) + ...+ (axn


https://dl.doubtnut.com/l/_Npg6ZzcHsHAd
https://dl.doubtnut.com/l/_9b1qzT87mC4I
https://dl.doubtnut.com/l/_aFHvn26O868c

-aX) =0

O Watch Video Solution

41. If the mean of 6, 4, 7, p and 10 is 8, find the

value of p

o Watch Video Solution

42. Find the sum of the deviations of the variate

values 3, 4, 6, 8, 14 from their mean.

o Watch Video Solution



https://dl.doubtnut.com/l/_aFHvn26O868c
https://dl.doubtnut.com/l/_B93EwRVWkHYS
https://dl.doubtnut.com/l/_Zdy76SUZnkOM

43. The mean of 40 observations was 160. It was
detected on rechecking that the value of 165 was
wrongly copied as 125 for computation of mean.

Find the correct mean.

° Watch Video Solution

44.The mean of 100 items was found to be 30. If
at the time of calculation two items were
wrongly taken as 32 and 12 instead of 23 and 11,

find the correct mean.

r. Y |


https://dl.doubtnut.com/l/_Zdy76SUZnkOM
https://dl.doubtnut.com/l/_FYN4fyPLemWq
https://dl.doubtnut.com/l/_dCTdwswaCqRI
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45. The mean monthly salary of 10 members of a
group is Rs. 1445, one more member whose
monthly salary is Rs. 1500 has joined the group.
Find the mean monthly salary of 11 members of

the group.

o Watch Video Solution

46. The mean of 10 number is 20. If 5 is
subtracted from every number, what will be the

new mean?


https://dl.doubtnut.com/l/_dCTdwswaCqRI
https://dl.doubtnut.com/l/_ylF6AzIPzDvI
https://dl.doubtnut.com/l/_lD1dLyGd3bds

o Watch Video Solution

47. The mean of 16 numbers is 8. If 2 is added to

every number, what will be the new mean?

° Watch Video Solution

48. The mean of 5 number is 18. If one numbers is
excluded, their mean is 16. Find the excluded

number.

° Watch Video Solution



https://dl.doubtnut.com/l/_lD1dLyGd3bds
https://dl.doubtnut.com/l/_f46SQkzBFXA0
https://dl.doubtnut.com/l/_o7vxgAZMG4SR

49, If the mean of five observations x ,x+ 2 ,x+ 4
, X+ 6,x+ 8 is 11, find the mean of first three

observations.

° Watch Video Solution

50. If x1, x2, x3,..xn are n values of a variable

X such that Find the value of n and the mean.

° Watch Video Solution



https://dl.doubtnut.com/l/_06V8dsOjr6jP
https://dl.doubtnut.com/l/_4edjBHOxstE2

51. The sum of the deviations of a set of n values
1, L9, £, measured from 50 is-10 and the sum
of deviations of the values from 46 is 70.Find the

values of n and the mean.

o Watch Video Solution

52. If the heights of 5 persons are 140cm, 150cm,
152cm, 158cm and 161cm respectively, find the

mean height.

° Watch Video Solution



https://dl.doubtnut.com/l/_JE9nQkk39bB5
https://dl.doubtnut.com/l/_N4YYicgqUhvu
https://dl.doubtnut.com/l/_lxEcSCp1cJyb

53. Find the mean of 994, 996, 998, 1002 and 1000

° Watch Video Solution

54. Find the mean of first five natural numbers.

O Watch Video Solution

55. Find the mean of all factors of 10.

o Watch Video Solution



https://dl.doubtnut.com/l/_lxEcSCp1cJyb
https://dl.doubtnut.com/l/_esvvGV2RbXB1
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56. Find the mean of first 10 even natural

numbers.

0 Watch Video Solution

57.Find the mean of x, x+2, x+4, x+6, x+8

° Watch Video Solution

58. Find the mean of first five multiples of 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_E1LYyE9OuLHM
https://dl.doubtnut.com/l/_fqcss1pVTEdt
https://dl.doubtnut.com/l/_7gUrCc5GmCfD
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59. Following are the weights (in kg) of 10 new
born babies in a hospital on a particular day: 3.4,

36,4.2,45,39,4.1,3.8,4.5 4.4, 3.6. Find the mean

° Watch Video Solution

60. The percentage of marks obtained by
students of a class in mathematics are: 64, 36, 47,

23,0, 19, 81,93, 72, 35, 3, 1. Find their mean.

o Watch Video Solution



https://dl.doubtnut.com/l/_cPrT3eC1xII1
https://dl.doubtnut.com/l/_zzFFIBjlXhLg
https://dl.doubtnut.com/l/_qAb78uAnGtjb

61. The numbers of children in 10 families of a
locality are: 2,4,3,4,2,3,5,1,1,5. Find the mean

number of children per family.

o Watch Video Solution

62.If M is the mean of x1,x2, x3, x4 , x5 and x6,
prove that (x1 - M) + (x2 - M) + (x3 - M) + (x4 -

M) + (x5 — M) + (x6 - M) =0

° Watch Video Solution



https://dl.doubtnut.com/l/_qAb78uAnGtjb
https://dl.doubtnut.com/l/_AwiSuz8MdKXf

63. Duration of sunshine (in hours) in Amritsar
for first 10 days of August 1997 as reported by
the Meteorological Department are given below:
9.6,5.2,35,15, 16, 24, 2.6, 84, 10.3, 10.9 Find the

mean

° Watch Video Solution

64. Explain, by taking a suitable example, how the
arithmetic mean alters by (i) adding a constant
to each term, (ii) subtracting a constant from

each them, (iii) multiplying each term by a


https://dl.doubtnut.com/l/_wYQgrTKWA2Nk
https://dl.doubtnut.com/l/_QPHA0gSssBB3

constant and (iv) dividing each term by a non-

zZero constant

o Watch Video Solution

65. The mean of marks scored by 100 students
was found to be 40. Later on it was discovered
that a score of 53 was misread as 83. Find the

correct mean.

° Watch Video Solution



https://dl.doubtnut.com/l/_QPHA0gSssBB3
https://dl.doubtnut.com/l/_RCw6iSk8izZZ

66. The traffic police recorded the speed (in
km/hr) of 10 motorists as 47, 53, 49, 60, 39, 42, 55,
57, 52, 48. Later on an error in recording
instrument was found. Find the correct average
speed of the motorists if the instrument

recorded 5 km/hr less in each case.

° Watch Video Solution

67. The mean of five numbers is 27. If one number
iIs excluded, their mean is 25.Find the excluded

number.



https://dl.doubtnut.com/l/_l6q9OsM9jeq7
https://dl.doubtnut.com/l/_JmvMzTZXdd8a

‘ ° Watch Video Solution

68. The mean weight per student in a group of 7
students is 55 kg. The individual weights of 6 of
them (in kg) are 52, 54, 55, 53, 56 and 54. Find the

weight of the seventh student.

° Watch Video Solution

69. The mean weight of 8 numbers is 15. If each
number is multiplied by 2, what will be the new

mean?



https://dl.doubtnut.com/l/_JmvMzTZXdd8a
https://dl.doubtnut.com/l/_UKbZzOsxhtoi
https://dl.doubtnut.com/l/_K8Eo2jnReHa0

o Watch Video Solution

70. The mean of 5 numbers is 18. If one number is
excluded, their mean is 16. Find the excluded

number.

o Watch Video Solution

71. The mean of 200 items was 50. Later on, it was
discovered that the two items were misread as
92 and 8 instead of 192 and 88. Find the correct

mean.



https://dl.doubtnut.com/l/_K8Eo2jnReHa0
https://dl.doubtnut.com/l/_LlFF0t1WgE2p
https://dl.doubtnut.com/l/_pwhrywkpGtEl

| o Watch Video Solution

72. The sums of the deviations of a set of n
values x7, x9, ;y x,, measured from 15 and
—3are — 90 and 54 respectively. Find the value

of n and mean.

° Watch Video Solution

73.Find the mean of the following 3, 4,6, 7, 8, 14.

° Watch Video Solution



https://dl.doubtnut.com/l/_pwhrywkpGtEl
https://dl.doubtnut.com/l/_WLrjdNJSBwNb
https://dl.doubtnut.com/l/_xZG4EYODLYcm
https://dl.doubtnut.com/l/_Rf1fna1KTFuq

74.1f X " is the mean of the ten natural numbers
X1 x2 x3 ,.x10 ,showthat (x1 - X" )+(x 2 -

X" )+.+(x10 - X7 )=0.

° Watch Video Solution

75.Find the mean of the following : 2,5,8

° Watch Video Solution

76. Following table shows the weights of 12

students: Find the mean weight.


https://dl.doubtnut.com/l/_Rf1fna1KTFuq
https://dl.doubtnut.com/l/_QlfvaAj44zm2
https://dl.doubtnut.com/l/_CGYgJMCtGoKB

o Watch Video Solution

77. Find the mean of the following: 1,5,4,3,2

o Watch Video Solution

78. If the mean of the following distribution is 6,

find the value of p

° Watch Video Solution



https://dl.doubtnut.com/l/_CGYgJMCtGoKB
https://dl.doubtnut.com/l/_8rf7GD6dwSMC
https://dl.doubtnut.com/l/_kq7jehIP6nMG

79. Find the value of if the mean of the following

distribution is 7.5

° Watch Video Solution

80. Find the missing frequencies in the following
frequency distribution if it is known that the

mean of the distribution is 1.46. No. of accident

(x), o, 1, 2, 3, 4, 5, Total Frequency
is 200 and no. of days (f): 46 , 2?7,
25, 10, 5

o Watch Video Solution



https://dl.doubtnut.com/l/_VgOgf9x681z7
https://dl.doubtnut.com/l/_aQRnxLPGpUna

81. Calculate the mean for the following

distribution:

o Watch Video Solution

82. Find the mean of the following data:

o Watch Video Solution

83. The mean of the following data is 20.6. Find

the value of p


https://dl.doubtnut.com/l/_aQRnxLPGpUna
https://dl.doubtnut.com/l/_bVWlWZ4gH235
https://dl.doubtnut.com/l/_LAu7o0gZ7H7P
https://dl.doubtnut.com/l/_A9CrE6qj5g2W

o Watch Video Solution

84. If the mean of the following data is 15, find

o Watch Video Solution

85. Find the value of for the following

distribution whose mean is 16.6.

° Watch Video Solution



https://dl.doubtnut.com/l/_A9CrE6qj5g2W
https://dl.doubtnut.com/l/_KrlqY8Br4nS7
https://dl.doubtnut.com/l/_PY6SG6A1e6We

86. Find the value of p for the following
distribution whose mean is 12.58. x: 5, 8, 10, 12,

p, 20, 25 and f:2, 5,8, 22, 7, 4, 2

° Watch Video Solution

87. Find the missing frequency (p) for the
following distribution whose mean is 768  : 3 5

79113 f:6815p84

° Watch Video Solution



https://dl.doubtnut.com/l/_7KEDhTNnzdmh
https://dl.doubtnut.com/l/_yXe6nqMpx5A2

88. Find the value of mean of the following-

20,10,30

° Watch Video Solution

89. Find the mean of the following: 10,12,14,16

° Watch Video Solution

90. Candidates of four schools appear in a
mathematics test. The data were as follows

School, No. of Candidates, Average Score | 1l 1l 1V,


https://dl.doubtnut.com/l/_KxHVrIpln85p
https://dl.doubtnut.com/l/_JnIyAwB8jok7
https://dl.doubtnut.com/l/_0wCb1rbF4mIl

60 48 Not available 40, 75 80 55 50 If the average
score of the candidates of all the four schools is
66, find the number of candidates that appeared

from school Ill.

O Watch Video Solution

91. Five coins were simultaneously tossed 1000
times and at each toss the number of heads were
observed. The number of tosses during which
0,1,2,3,4 and 5 heads were obtained are shown in
the table below. Find the mean number of heads

per toss.



https://dl.doubtnut.com/l/_0wCb1rbF4mIl
https://dl.doubtnut.com/l/_6E2vwoWc264U

° Watch Video Solution

92. Find the missing frequencies in the following
frequency distribution if it is known that the
mean of the distribution is 50. z : 10 30 50 70 90

f: 17 fl 32 f2 19 Total 120.

o Watch Video Solution

93. Find the median of the following data: 25, 34,

31, 23, 22, 26, 35, 28, 20, 32

° Watch Video Solution



https://dl.doubtnut.com/l/_6E2vwoWc264U
https://dl.doubtnut.com/l/_eFjFmyAKfUjh
https://dl.doubtnut.com/l/_sC7VPQ8GIY9h

94. Find the median of the following values: 37,

31,42,43, 46, 25, 39, 45, 32

o Watch Video Solution

95. The median of the observation
11, 12, 14, 18, = + 2, = + 4, 30, 32, 35, 41
arranged in ascending order is 24. Find the

value of z.

° Watch Video Solution



https://dl.doubtnut.com/l/_sC7VPQ8GIY9h
https://dl.doubtnut.com/l/_1itW0dkizoA5
https://dl.doubtnut.com/l/_4qxsxuiBku4F

96. Find the median of the following data:
19, 25, 59, 48, 35, 31, 30, 32, 51. If 25 is

replaced by 52, what will be the new median.

° Watch Video Solution

97. Find the median of the following data 83, 37,

70, 29,45, 63, 41,70, 34, 54

° Watch Video Solution



https://dl.doubtnut.com/l/_Z4N5VJzrwJbB
https://dl.doubtnut.com/l/_5B3szqqvaMpM

98. Find the median of the following data 133, 73,

89, 108, 94, 104, 94, 85, 100, 120

° Watch Video Solution

99. Find the median of the following data 31, 38,

27, 28, 36, 25, 35,40

° Watch Video Solution

100. Find the median of the following data 15, 6,

16, 8, 22, 21,9, 18, 25


https://dl.doubtnut.com/l/_TwN3FMakTTnM
https://dl.doubtnut.com/l/_ZOmANTBzWrrL
https://dl.doubtnut.com/l/_YvNerx2Z3K6z

o Watch Video Solution

101. Find the median of the following data 41, 43,

127,99, 71,92, 71, 58, 57

° Watch Video Solution

102. Find the median of the following data 25, 34,

31, 23, 22, 26, 35, 29, 20, 32

0 Watch Video Solution



https://dl.doubtnut.com/l/_YvNerx2Z3K6z
https://dl.doubtnut.com/l/_0XD8rcNMGZBc
https://dl.doubtnut.com/l/_K9IkMuU8ic1B

103. Find the median of the following data 12, 17,

3,14,5,8,7,15

° Watch Video Solution

104. Find the median of the following data 92, 35,

67,85,72,81, 56, 51,42, 69

° Watch Video Solution

105. Numbers

50, 42, 35, 2z + 10, 2z — 8, 12, 11, 8  are


https://dl.doubtnut.com/l/_t86zm2jHUXZZ
https://dl.doubtnut.com/l/_E0IBlVurfPxR
https://dl.doubtnut.com/l/_7s0Dk36Rolrs

written in descending order and their median is

25, find z.

° Watch Video Solution

106. Find the median of the following
observations: 46, 64, 87, 41, 58, 77, 35, 90, 55, 92,
33. If 92 is replaced by 99 and 41 by 43 in the

above data, find the new median?

° Watch Video Solution



https://dl.doubtnut.com/l/_7s0Dk36Rolrs
https://dl.doubtnut.com/l/_tKoMWbkxGDyL

107. Find the median of the following data: 41, 43,
127, 99, 61, 92, 71, 58, 57 if 58 is replaced by 85,

what will be the new median.

° Watch Video Solution

108. The weights (in kg) of 15 students are: 31, 35,
27, 29, 32, 43, 37, 41, 34, 28, 36, 44, 45, 42, 30. Find
the median. If the weight 44 kg is replaced by 46

kg and 27 kg by 25 kg, find the new median.

° Watch Video Solution



https://dl.doubtnut.com/l/_VxTrk8hNAAKz
https://dl.doubtnut.com/l/_FIKffAOLqTeP
https://dl.doubtnut.com/l/_aW7CgJebmhnK

109. The following observations have been
arranged in ascending order. If the median of the
data is 63, find the value of =z:

29,32, 48 50, z, = + 2, 72, 78, 84, 95

o Watch Video Solution

110. Find the mode from the following data: 110,

120, 130, 120, 110, 140, 130, 120, 140, 120

° Watch Video Solution



https://dl.doubtnut.com/l/_aW7CgJebmhnK
https://dl.doubtnut.com/l/_PxNWbcIW7dzm

111. Find the mode for the following series: 2.5,

23,22,24,2.7,2.7,25,23,2.2,26,2.2

o Watch Video Solution

112. Find out the mode of the following marks
obtained by 15 students in a class: Marks: 4, 6, 5,

7,9,8,10,4,7,6,5,9,8,7,7

° Watch Video Solution



https://dl.doubtnut.com/l/_1E5EPzLqiMIj
https://dl.doubtnut.com/l/_Hks7SvwLbwBE

113. Find the mode from the following data: 125,

175, 225,125, 225, 175, 325,125, 375, 225, 125

° Watch Video Solution

114. Find the mode for the following series: 7.5,

713,72,72,74,7.7,7.7,75,73,7.2,7.6,7.2

° Watch Video Solution

115. Find the mode of the following data in each

case: 14, 25, 14, 28, 18, 17, 18, 14, 23, 22, 14,18 7, 9,


https://dl.doubtnut.com/l/_6GP9bm7BM354
https://dl.doubtnut.com/l/_OqP6HuXVz4F4
https://dl.doubtnut.com/l/_StjlZ7bIlWEm

12,13,7,12,15,7,12,7, 25,18, 7

o Watch Video Solution

116. The demand of different shirt sizes, as
obtained by a survey, is given below: Size:, 37,38,
39, 40, 41, 42, 43, 44, total No. of Person (wearing
it):, 26, 39, 20, 15, 13, 7, 5, 125 Find the modal shirt

sizes, as observed from the survey.

° Watch Video Solution



https://dl.doubtnut.com/l/_StjlZ7bIlWEm
https://dl.doubtnut.com/l/_9KbyOy8mhyzF

117. If the ratio of mean and median of a certain
data is 2:3, then find the ratio of its mode and

mean.

° Watch Video Solution

118. If the ratio of mode and median of a certain
data is 6:5, then find the ratio of its mean and

median.

° Watch Video Solution



https://dl.doubtnut.com/l/_DqGKamx1LIj7
https://dl.doubtnut.com/l/_o4AW2GXUwm2X

119. If the mean of

x+2 2x+3, 3xr +4, dr +5isx + 2,find =

° Watch Video Solution

120. The arithmetic mean and mode of a data are
24 and 12 respectively, then find the median of

the data.

° Watch Video Solution



https://dl.doubtnut.com/l/_P5iM1N1qJyhq
https://dl.doubtnut.com/l/_czjvfjjrJchg

121. If the difference of mode and median of a
data is 24, then find the difference of median and

mean.

° Watch Video Solution

122. If the median of scores

T T T T T ,
2301 gandg(where x > 0)is6 , then

find the value of % .

o Watch Video Solution



https://dl.doubtnut.com/l/_XqGRWPH5Rkze
https://dl.doubtnut.com/l/_Z2uZEg652Gw1

123. If the mode of scores

3,4, 3, 5 4, 6, 6, x ts4,find the value of z.

° Watch Video Solution

124. If the median of 20, 25, 28, =, 33, 34is 29

, find the maximum possible value of z.

° Watch Video Solution

125. For the set of numbers 5,6,6,6,7,7 and 12, find

mode


https://dl.doubtnut.com/l/_uSsOXjc4hpVp
https://dl.doubtnut.com/l/_9elPF0OS8Lou
https://dl.doubtnut.com/l/_ZLi0OPRbcAZ7

o Watch Video Solution

126. Which one of the following is not a measure
of central value: (a) Mean (b) Range (c)

Median (d) Mode

° Watch Video Solution

127. The mean of n observations is x. If k is added

to each observation, then the new mean is X (b)

X+k(@©X—-Ek()EX

o Watch Video Solution



https://dl.doubtnut.com/l/_ZLi0OPRbcAZ7
https://dl.doubtnut.com/l/_GlQku15JuWg7
https://dl.doubtnut.com/l/_LoQGhaMjBc8m

128. The mean of n observations is X. If each

observation is multiplied by k, the mean of new

observation is kX (b) % () X +kdX—k

° Watch Video Solution

129. The mean of a set of seven numbers is 81. If
one of the numbers is discarded, the mean of the
remaining numbers is 78. The value of discarded
number is 98 (b) 99 (c) 100 (d)

101



https://dl.doubtnut.com/l/_LoQGhaMjBc8m
https://dl.doubtnut.com/l/_LgC0hVE4yudI
https://dl.doubtnut.com/l/_skzI7y5eN9N5

‘ o Watch Video Solution

130. For which set of numbers do the mean,
median and mode all have the same value? (a)2,

2,2,24 (b)13,3,3,5(c)1,2,3,56 (d) 1,1,1,2,5

° Watch Video Solution

131. For the set of numbers 2, 2, 4, 5 and 12, find

mode

0 Watch Video Solution



https://dl.doubtnut.com/l/_skzI7y5eN9N5
https://dl.doubtnut.com/l/_SfZZNHDsIFVy
https://dl.doubtnut.com/l/_zMyi8lxKHTpF

132. If the arithmetic mean of 7, 5, 13,  and 9
is 10,then the value of z is

(a) 10

o Watch Video Solution

133. If the mean of five observations

z, x+ 2, x+4, 4+ 6, x + 8is 11, then the


https://dl.doubtnut.com/l/_2Xb2d6pAJE1O
https://dl.doubtnut.com/l/_qD3x1fR9oItP

mean of first three observations is 9 (b) 11 (c) 13

(d) none of these

o Watch Video Solution

134. Mode is

(a)least frequent value
(b) middle most value
(c) most frequent value

(d) none of these

° Watch Video Solution



https://dl.doubtnut.com/l/_qD3x1fR9oItP
https://dl.doubtnut.com/l/_1GMHmUpSY7d9

135. The following is the data of wages per day: 5,
4,7,5,8,8,8,57,9,5,7,9, 10, 8. The mode of the

datais: 7 (b) 5 (c) 8 (d) 10

° Watch Video Solution

136. The empirical relation between mean, mode

and median is (a)
Mode = 3 Median — 2 Mean (b)
Mode = 2 Median — 3 Mean (c)
Median = 3 Mode — 2 Mean (d)

Mean = 3 Median — 2 Mode



https://dl.doubtnut.com/l/_6yQ5mp97vNfM
https://dl.doubtnut.com/l/_0DcGg5d9qbw4

‘ ° Watch Video Solution

137. The median of the following data:
0,2 2,2 —-3,5 —1,5,5 —3,6,6,5,6

is(@)0(b) —1.5(c)2(d) 3.5

o Watch Video Solution

138. The mean of a, b, ¢, d and e is 28. If the mean

of a, cand e is 24 , what is the mean of band d ?


https://dl.doubtnut.com/l/_0DcGg5d9qbw4
https://dl.doubtnut.com/l/_zaQBSsmguoey
https://dl.doubtnut.com/l/_ok1TBF7bHGlD

o Watch Video Solution

139. The algebraic sum of the deviations of a set
of n values from their mean is (a) 0 (b) n — 1 (c)

n(dn-+1

o Watch Video Solution

140. A, B are two sets of valuesof x: A:3, 7,,

B:12, 8 Meanof A = Mean of B then True


https://dl.doubtnut.com/l/_ok1TBF7bHGlD
https://dl.doubtnut.com/l/_HcgBxVWdAy1c
https://dl.doubtnut.com/l/_mHsDHEDF67Lb

or False

° Watch Video Solution



https://dl.doubtnut.com/l/_mHsDHEDF67Lb

